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Q.1 Select the most appropriate synonym of the given word.
Makeshift

Ans 1. Resourceful

2. Provisional

3. Perpetual

4. Inconsiderate

Question ID : 264330143973
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate synonym of the given word from the following sentence.

Ambitious
He aspires to be a future diplomat but he will have to improve his decision-making

skills.
Ans 1. aspires

2. improve
3. decision

4. skills

Question ID : 264330141292
Status : Answered
Chosen Option : 1

Q.3 Select the most appropriate option that can substitute the underlined word in the
given sentence.

The fall of Ranjith for the petty material benefit was really ignominious.

Ans 1. unfaltering
2. amusing
3. reprehensible

4. ignorable

Question ID : 264330143980
Status : Answered
Chosen Option : 3




Q.4 Select the option that can be used as a one-word substitute for the underlined group
of words.

WHO is an organisation that raises money for a particular cause.

Ans 1. donation
2. volunteer
3. charity

4. fundraiser

Question ID : 264330144144
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option that can substitute the underlined words in the
given sentence.

The new restaurant is more better than the old one.
Ans 1. most better

2. better
3. much more better

4. the best

Question ID : 264330142566
Status : Answered
Chosen Option : 2

Q.6 Select the option that expresses the given sentence in passive voice.
The teacher did not allow the students to leave the lecture.

Ans 1. The students are not allowed to leave the lecture.
2. The students had not been allowed to leave the lecture by the teacher.
3. The students had not allowed the teacher to leave the lecture.

4. The students were not allowed to leave the lecture by the teacher.

Question ID : 264330150103
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate idiom for the underlined segment in the following
sentence.

The servants know the secrets of the family they are working for.

Ans 1. Ins and outs
2. Latin and Greek
3. Hornet’s nest

4. Long and short

Question ID : 264330149548
Status : Answered
Chosen Option : 1




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Washington Irving’s writing career started at / the tender age of nineteen when he
joined / his brother Peter’s newspaper The Morning Chronical / as journalist.

Ans 1. his brother Peter’s newspaper The Morning Chronical
2. Washington Irving’s writing career started at
3. as journalist

4. the tender age of nineteen when he joined

Question ID : 264330148694
Status : Answered
Chosen Option : 3

Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Isabel saw a strange rabbit running through the bushes.
B. Following it, she found a door which she opened with the help of keys.
C. After that, she felt a strange sensation in her body.
D. She thought as if she was in a dream.

Ans 1. CDAB
2. DCAB
3. BCDA
4. ABCD

Question ID : 264330147609
Status : Answered
Chosen Option : 4

Q.10 Select the most appropriate ANTONYM of the word in brackets to fill in the blank.

After the rain stopped, the air smelled fresh and clean, and the sun
(stared) out from behind the clouds.

Ans 1. peeked
2. observed
3. spied

4. surveyed

Question ID : 264330149822
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate homophone to fill in the blank.

Developers the old buildings on the site to make way for new
construction.

Ans 1. raze
2. rays
3. raise

4. rase

Question ID : 264330148945
Status : Answered
Chosen Option : 3




Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

(A) The new movie was highly anticipated by fans of the franchise.

(B) As the lights dimmed, the audience grew quiet in anticipation.

(C) The movie began with an exciting action sequence that had the audience on the

edge of their seats.
(D) The movie theatre was packed with people eager to see it.

Ans 1. CBDA
2. BCDA
3. ADBC

4. DBAC

Question ID : 264330144202
Status : Answered
Chosen Option : 4

Q.13 Select the correctly spelt word.
Ans 1. Suspicion

2. Susspicion
3. Susppicion

4. Suspicon

Question ID : 264330143949
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate idiom for the underlined segment in the following
sentence.

Shruti is a strange person because of her attitude.
Ans 1. Aone man
2. A scarlet woman
3. Queer fish

4. A straw man

Question ID : 264330149550
Status : Answered
Chosen Option : 3

Q.15 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.
A) the importance
B) to be treated
C) of treating other people
D) now he knows
E) as he would like

Ans 1.D,A,C,E,B
2.B,D,C,AE
3.C,D,B,A E
4.C,E,B,A/ D

Question ID : 264330143912
Status : Answered
Chosen Option : 1




Q.16 Select the option that can be used as a one-word substitute for the given group of
words.
A form of government in which power is held by the nobility

Ans 1. Democracy
2. Aristocracy
3. Republic
4. Nobility

Question ID : 264330143934
Status : Answered
Chosen Option : 2

Q.17 Choose the correct meaning of the underlined word in the given sentence.
The World Health Organization has finally issued guidelines to prevent the spread of
the Covid-19 epidemic.

Ans 1. A large number of people or animals suffering from the same disease at the same
time

2. An infection which is caused by viruses

3. An infection that spreads slowly

4. A disease which lasts for more than fifty years

Question ID : 264330149746
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option that expresses the given sentence in passive voice.
The professor assigns the homework every week.

Ans 1. The homework is assigning by the professor every week.
2. The homework will be assigned by the professor every week.
3. The homework assigns by the professor every week.

4. The homework is assigned by the professor every week.

Question ID : 264330144185
Status : Answered
Chosen Option : 4

Q.19 Select the INCORRECTLY spelt word.

The Special Task Force will conduct a thorough probe in the land scam case which
has Mr. Lakhan Lal as the prime akused.

Ans 1. Scam
2. Prime
3. Thorough
4. Akused

Question ID : 264330144130
Status : Answered
Chosen Option : 4




Q.20 Select the most appropriate ANTONYM to substitute the underlined word in the given
sentence.

The newly selected secretary of the party has a/an impeccable image among the
public.

Ans 1. Refurbished
2. Blemished
3. Irresistible

4. Arbitrary

Question ID : 264330143987
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Upgrading the higher education sector especially in terms of patents filed and cutting-edge
research output is (1) in improving India’s global ranking. Our sustainable (2)
development depends on human resources. A quality higher education base is essential to
reap the full benefits of our demographic dividend. In higher education, the strategies of the

12th plan (3) on technical education, distance learning, quality research,
infrastructure, faculty, and curriculum content. (4) efforts of the government
departments and the private sector are needed to (5) the plan’s educational goals.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. unrequired

2. deserving
3. fulfilling

4. essential

Question ID : 264330148740
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Upgrading the higher education sector especially in terms of patents filed and cutting-edge
research output is (1) in improving India’s global ranking. Our sustainable (2)
development depends on human resources. A quality higher education base is essential to
reap the full benefits of our demographic dividend. In higher education, the strategies of the

12th plan (3) on technical education, distance learning, quality research,
infrastructure, faculty, and curriculum content. (4) efforts of the government
departments and the private sector are needed to (5) the plan’s educational goals.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. social
2. economic
3. psychological

4. political

Question ID : 264330148741
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Upgrading the higher education sector especially in terms of patents filed and cutting-edge
research output is (1) in improving India’s global ranking. Our sustainable (2)
development depends on human resources. A quality higher education base is essential to
reap the full benefits of our demographic dividend. In higher education, the strategies of the

12th plan (3) on technical education, distance learning, quality research,
infrastructure, faculty, and curriculum content. (4) efforts of the government
departments and the private sector are needed to (5) the plan’s educational goals.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. understand

2. attend
3. divert

4. focus

Question ID : 264330148742
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Upgrading the higher education sector especially in terms of patents filed and cutting-edge
research output is (1) in improving India’s global ranking. Our sustainable (2)
development depends on human resources. A quality higher education base is essential to
reap the full benefits of our demographic dividend. In higher education, the strategies of the

12th plan (3) on technical education, distance learning, quality research,
infrastructure, faculty, and curriculum content. (4) efforts of the government
departments and the private sector are needed to (5) the plan’s educational goals.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. Sustained

2. Compromised
3. Coordinated

4. Gathered

Question ID : 264330148743
Status : Answered
Chosen Option : 1




Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and

select the most appropriate option to fill in each blank.
Upgrading the higher education sector especially in terms of patents filed and cutting-edge

research output is (1) in improving India’s global ranking. Our sustainable (2)

development depends on human resources. A quality higher education base is essential to
reap the full benefits of our demographic dividend. In higher education, the strategies of the

12th plan (3) on technical education, distance learning, quality research,
infrastructure, faculty, and curriculum content. (4) efforts of the government
departments and the private sector are needed to (5) the plan’s educational goals.

SubQuestion No : 25
Select the most appropriate option to fill in blank number 5.

1. remain
2. realise
3. conclude

4. conduct

Question ID : 264330148744

Status : Answered

Chosen Option : 2

Section : General Intelligence

Q.1
Ans 1. 23
2. 22
3. 24
4. 25
Question ID : 264330151010
Status : Answered
Chosen Option : 1
Q.2
Ans 1152
2. 157
3. 159
4. 149

Question ID : 264330152163
Status : Answered

Chosen Option : 2




Q.3

Ans 1L MK 20
2. 0K 22
3. NK 22
4 NIzl Question ID : 264330151985
Status : Answered
Chosen Option : 2
Q.4
Ans 1.
2.
3.
4.
SIT Question ID : 264330146863
Status : Answered
Chosen Option : 3
Q.5
Ans L. Father
2.
3.
4,

Question ID : 264330152007
Status : Answered
Chosen Option : 3




Q.6

Ans 1. Two
2. Six
3.
4. .
Question ID : 264330146877
Status : Answered
Chosen Option : 1
Q.7
Ans . g
- d
3 6
4. 8
Question ID : 264330146927
Status : Answered
Chosen Option : 4
Q.8
Ans 140
2. 26
3. 44
420 Question ID : 264330146378

Status : Not Answered
Chosen Option : --




Q.9

Ans 1. 39
2. §2
3 48
4 47 Question ID : 264330150897
Status : Answered
Chosen Option : 3
Q.10
Ans
Ll e
2| @
3. ®
4.

A

Question ID : 264330146468
Status : Answered
Chosen Option : 3




Q.11

Ans 1.
2.
3.
4 Question ID : 264330146951
' Status : Answered
Chosen Option : 3
Q.12
Ans - 114:77
2. 25: 86
3. 31:94
4. .
22:85 Question ID : 264330146755
Status : Answered
Chosen Option : 1
Q.13
Ans 1.
2.
3.
4 Question ID : 264330146865
' Status : Answered
Chosen Option : 1
Q.14
Ans 1. 3
2.
3.
2 Question ID : 264330152166
4.1 Status : Answered

Chosen Option : 1




Q.15

Ans
Question ID : 264330147489
Status : Answered
Chosen Option : 4
Q.16
Ans
Question ID : 264330146591
Status : Answered
Chosen Option : 2
Q.17
Ans . (9
- 73
77
- 55

Question ID : 264330152187
Status : Answered
Chosen Option : 3




Q.18

Ans 1. Six
2.
3.
4. Twao Question ID : 264330146879
Status : Answered
Chosen Option : 4
Q.19
Ans 1. 370
2.
3. 170
4 Question ID : 264330147380
Status : Answered
Chosen Option : 2
Q.20
Ans 1.
2.
3.
4,

Question ID : 264330147281
Status : Answered
Chosen Option : 1




Q.21

Ans 1.
2.
3.
Question ID : 264330146704
4, Status : Answered
Chosen Option : 4
Q.22
Ans 1.
2.
3.
4 2t Question ID : 264330147201
Status : Answered
Chosen Option : 1
Q.23
Ans 1 4:36
2. 8:128
3.0 161 Question ID : 264330151019
Status : Answered
4.6:70 Chosen Option : 2




Q.24

Ans
1. NRT
2. LPR
3. FIK Question ID : 264330151970
Status : Answered

4. BFI Chosen Option : 4

Q.25

Ans

L
o®
2.
X
3.
%
4.
X

Question ID : 264330146309
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude




Q.1

Ans
Question ID : 264330148012
Status : Answered
Chosen Option : 3
Q.2
Ans . 65
- 55
- 60
- 50
Question ID : 264330149440
Status : Answered
Chosen Option : 3
Q.3
Ans

Question ID : 264330147841
Status : Answered
Chosen Option : 3




Q.4

Table shows year wise road accidents registered in a city during 2015 - 2018.

Accidents | | , . ]
Minor | Injury | Serious | Casualties
Years
2015 160 125 55 30
2016 150 120 50 35
2017 210 170 30 25
2018 190 130 60 40

What is the percentage reduction in serious from the year 2016 to 20177

Ans 1. 35%
2. 20%
3. 25%
4. 40%
Question ID : 264330148814
Status : Answered
Chosen Option : 4
Q5
Ans 107
2. 12
3. 15
4. 13
Question ID : 264330147991
Status : Answered
Chosen Option : 4
Q.6
Ans 12,562
2. 2,514
3. 2,642
4. 2?592 Question ID : 264330151112

Status : Answered
Chosen Option : 4




Q.7

Ans

16
25
40
a1
41
40
31
30

Question ID : 264330148280
Status : Answered
Chosen Option : 3

Q.8

Ans

1. 66% km/h

2. 66 § km/h

3. 66§ km/h

a. 66§ km/h

Question ID : 264330151199
Status : Answered
Chosen Option : 2

Q.9

Ans

Question ID : 264330148772
Status : Answered
Chosen Option : 3




Q.10

Ans

Question ID : 264330150534
Status : Answered
Chosen Option : 3

Q11 A tradesman marks his goods 25% above the cost price and

Ans

allows his customers a discount of 12% on their bill. How much

% profit tradesman realizes?

1.
2. 11%
3. 12%
4.
Question ID : 264330149324
Status : Answered
Chosen Option : 4
Q.12
Ans 1. 3
2. 5
3.1
4. 4

Question ID : 264330148780
Status : Answered
Chosen Option : 4




Q.13

Ans 1D

Question ID : 264330147671
3. A Status : Answered
Chosen Option : 3

a.C
Q.14
Ans 1.
2.
3.
4,
Question ID : 264330148275
Status : Answered
Chosen Option : 3
Q.15
Ans 1. 319700
2. 319000
3320000
4319500

Question ID : 264330150827
Status : Answered
Chosen Option : 3




Q.16

Ans 1.

Question ID : 264330148866
Status : Answered
Chosen Option : 3

Q.17 Chords AB and CD of a circle intersect inside the circle at point F. If m(AF) = 2.4 cm, m(BF) = 1.8 cm, and m(CD) = 5.7 cm,

what is the length (in cm) of the longer of the two line segments, CF and DF?

Ans 1. 4.5
2.
3.
4.
Question ID : 264330146823
Status : Answered
Chosen Option : 2
Q.18
Ans 1
2.
3.
4.

Question ID : 264330147878
Status : Answered
Chosen Option : 1




Q.19

Ans
1.
2.
3.
4. Question ID : 264330147822
Status : Answered
Chosen Option : 2
Q.20
Ans 1 %22,53,000
2. 24,775,000
3. X16,87,500
4. %20,25,000
Question ID : 264330150735
Status : Answered
Chosen Option : 3
Q.21
Ans 1.
2.
3.
4. 45°

Question ID : 264330148805
Status : Answered
Chosen Option : 4




Q.22

Ans

1.
2.
3.
4. Question ID : 264330147621
Status : Answered
Chosen Option : 3
Q.23
Ans
2.
Question ID : 264330148074
Status : Answered
Chosen Option : 2
Q.24
Ans

2, Wha

11

3. T

i 1

Question ID : 264330148047
Status : Answered
Chosen Option : 2




Q.25

Ans 1.

Question ID : 264330148782
Status : Answered
Chosen Option : 4

Section : General Awareness

Q1
Ans 1.
2.
3. Tamil Nadu
4. Kerala
Question ID : 264330150377
Status : Not Answered
Chosen Option : --
Q.2
Ans 1. Qdisha
2. Karnataka
3. JTharkhand
4. Question ID : 264330146265
Status : Answered
Chosen Option : 3
Q.3
Ans 1.
2.
3.
4,

Question ID : 264330145573
Status : Answered
Chosen Option : 1




Q4

Ans 1.
2.
3.
4,
Question ID : 264330145593
Status : Not Answered
Chosen Option : --
Q.5
Ans 1.
2.
3.
4. Lala Lajpat Rai
Question ID : 264330148584
Status : Answered
Chosen Option : 1
Q.6
Ans
3.
Question ID : 264330145902
Status : Answered
Chosen Option : 4
Q.7
Ans

Question ID : 264330144679
Status : Not Answered
Chosen Option : --




Q.8

Ans 1.
2.
3.
4.
Question ID : 264330149371
Status : Answered
Chosen Option : 2
Q.9
Ans 1. 10%
2. 8.5%
3. 5.9%
4. 7.1%
Question ID : 264330150327
Status : Answered
Chosen Option : 3
Q.10

Which of the following presents awards and recognitions in the field of Indian dances?

Ans 1. INTACH

2.
3.
4.
Question ID : 264330151254
Status : Answered
Chosen Option : 2
Q.11
Ans 1.
2.

3. Harmanpreet Kaur

4.

Question ID : 264330154808
Status : Answered
Chosen Option : 1




Q.12

Ans L. Shaktism

2. Saivism

3. Jainism

4.

Question ID : 264330148566
Status : Answered
Chosen Option : 4

Q.13

Ans 1. Article 44

2. Article 42
3. Article 45
4. 1
Article 43 Question ID : 264330150363
Status : Answered
Chosen Option : 4
Q.14
Ans 1.
2.
3.
4.
Question ID : 264330149346
Status : Answered
Chosen Option : 2
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330145790
Status : Answered
Chosen Option : 1




Q.16

Ans 1.
2.
3.
4.
Question ID : 264330148638
Status : Answered
Chosen Option : 2
Q.17
Ans
- As
- Cr
Question ID : 264330145845
Status : Answered
Chosen Option : 3
Q.18
Ans 1
2.
3.
4,
Question ID : 264330146128
Status : Answered
Chosen Option : 1
Q.19
Ans 1
2.
3.
4. P Harikrishna

Question ID : 264330154824
Status : Answered
Chosen Option : 3




Q.20
Ans

1.
2.
3. Net indirect taxes
4,
Question ID : 264330151271
Status : Answered
Chosen Option : 1
Q21 Which type of surveillance is specifically aimed at identifying missing cases of disease?
Ans 1.
2.
3.
4.
Question ID : 264330150151
Status : Answered
Chosen Option : 3
Q.22
Ans 1.
2.
3.
4.
Question ID : 264330145938
Status : Answered
Chosen Option : 4
Q.23
Ans 1
2.
3.
4.

Question ID : 264330146109
Status : Not Answered
Chosen Option : --




Q24 Proportional taxes would help to reduce the autonomous expenditure multiplier because

Ans 1.
2.
3.
4,
Question ID : 264330151337
Status : Answered
Chosen Option : 3
Q.25
Ans 1.
2. Shinzo Abe
3.
4.

Question ID : 264330148658
Status : Answered
Chosen Option : 4
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